	Bid Summary				
I	J				
	Invitation to Bid # 66FY20		Inc 743		
	Fitle: Fence Purchase, Rental, Insta Repairs	llation and	Company, l ⁄orth Dr. ghts, MD 20		
	Date: June 8, 2020 Fime: 10:00 AM		Long Fence Company, Inc 8545 Edgeworth Dr. Capitol Heights, MD 20743		
Fu Item Cl # Ft	urnish and Install Aluminized Steel Thain Link Fence with a 0.4 oz per Sq. t. Aluminum Coating, Top Rail and Tension Wire. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
1 2'	" Mesh, 36" High, 6-Gauge	Linear Foot	\$8.15	20	\$163.00
	" Mesh, 42" High, 6-Gauge	Linear Foot	\$8.75	20	\$175.00
	" Mesh, 48" High, 6-Gauge	Linear Foot	\$8.75	20	\$175.00
	" Mesh, 72" High, 6-Gauge	Linear Foot	\$9.75	20	\$195.00
	" Mesh, 96" High, 6-Gauge	Linear Foot	\$11.25	20	\$225.00
	" Mesh, 120" High, 6-Gauge	Linear Foot	\$14.75	20	\$295.00
7 2"	" Mesh, 144" High, 6-Gauge	Linear Foot	\$16.25	20	\$325.00
8 2"	" Mesh, 36" High, 9-Gauge	Linear Foot	\$7.50	20	\$150.00
9 2"	" Mesh, 42" High, 9-Gauge	Linear Foot	\$8.25	20	\$165.00
10 2"	" Mesh, 48" High, 9-Gauge	Linear Foot	\$8.75	20	\$175.00
11 2"	" Mesh, 72" High, 9-Gauge	Linear Foot	\$9.50	20	\$190.00
12 2"	" Mesh, 96" High, 9-Gauge	Linear Foot	\$11.00	20	\$220.00
13 2"	" Mesh, 120" High, 9-Gauge	Linear Foot	\$13.50	20	\$270.00
14 2"	" Mesh, 144" High, 9-Gauge	Linear Foot	\$16.50	20	\$330.00
15 2"	" Mesh, 120" High, 11-Gauge	Linear Foot	\$14.50	20	\$290.00
16 2"	" Mesh, 144" High, 11-Gauge	Linear Foot	\$18.25	20	\$365.00
17 1	3/4" Mesh, 120" High, 9-Gauge	Linear Foot	\$17.00	20	\$340.00
18 1	3/4" Mesh, 144" High, 9-Gauge	Linear Foot	\$21.00	20	\$420.00
19 1	3/4" Mesh, 120" High, 11-Gauge	Linear Foot	\$16.00	20	\$320.00
20 1	3/4" Mesh, 144" High, 11-Gauge	Linear Foot	\$20.00	20	\$400.00
Item # St	urnish and Install Thermally Fused black Vinyl Coated Chain Link Fence with a 9-Gauge Finish and a 10-Gauge teel Core including Top Rail and bension Wire. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
	" Mesh, 36" High	Linear Foot	\$7.50	20	\$150.00

22	2" Mesh, 42" High	Linear Foot	\$8.25	20	\$165.00
		Linear Foot	\$8.50	20	
	2" Mesh, 48" High				\$170.00
	2" Mesh, 72" High	Linear Foot	\$11.00	20	\$220.00
	2" Mesh, 96" High	Linear Foot	\$12.50	20	\$250.00
	2" Mesh, 120" High	Linear Foot	\$15.50	20	\$310.00
	2" Mesh, 144" High	Linear Foot	\$19.00	20	\$380.00
	1 2/3" Mesh, 120" High	Linear Foot	\$17.50	20	\$350.00
29	1 2/3" Mesh, 144" High	Linear Foot	\$21.00	20	\$420.00
Item #	Furnish and Install Intermediate Line Posts, including Line Post tops, digging the post hole and filling with concrete. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
30	1.9" O.D. Post for 6-Gauge 36" High Fence	Each Post	\$160.00	1	\$160.00
31	1.9" O.D. Post for 6-Gauge 42" High Fence	Each Post	\$165.00	1	\$165.00
32	1.9" O.D. Post for 6-Gauge 48" High Fence	Each Post	\$175.00	1	\$175.00
33	1.9" O.D. Post for 6-Gauge 72" High Fence	Each Post	\$200.00	1	\$200.00
34	1.9" O.D. Post for 6-Gauge 96" High Fence	Each Post	\$100.00	1	\$100.00
35	1.9" O.D. Post for 6-Gauge 120" High Fence	Each Post	\$100.00	1	\$100.00
36	1.9" O.D. Post for 6-Gauge 144" High Fence	Each Post	\$100.00	1	\$100.00
37	1.9" O.D. Post for 9-Gauge 36" High Fence	Each Post	\$165.00	1	\$165.00
38	1.9" O.D. Post for 9-Gauge 42" High Fence	Each Post	\$160.00	1	\$160.00
39	1.9" O.D. Post for 9-Gauge 48" High Fence	Each Post	\$165.00	1	\$165.00
40	1.9" O.D. Post for 9-Gauge 72" High Fence	Each Post	\$182.00	1	\$182.00
41	1.9" O.D. Post for 9-Gauge 96" High Fence	Each Post	\$100.00	1	\$100.00
42	1.9" O.D. Post for 9-Gauge 120" High Fence	Each Post	\$100.00	1	\$100.00
43	1.9" O.D. Post for 9-Gauge 144" High Fence	Each Post	\$100.00	1	\$100.00
44	1.9" O.D. Post for 11-Gauge 120" High Fence	Each Post	\$100.00	1	\$100.00
45	1.9" O.D. Post for 11-Gauge 144" High Fence	Each Post	\$100.00	1	\$100.00

Item #	Furnish and Install Intermediate Line Posts, including Line Post tops, digging the post hole and filling with concrete. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
46	2.375" O.D. Post for 6-Gauge 36" High Fence	Each Post	\$100.00	1	\$100.00
47	2.375" O.D. Post for 6-Gauge 42" High Fence	Each Post	\$100.00	1	\$100.00
48	2.375" O.D. Post for 6-Gauge 48" High Fence	Each Post	\$100.00	1	\$100.00
49	2.375" O.D. Post for 6-Gauge 72" High Fence	Each Post	\$100.00	1	\$100.00
50	2.375" O.D. Post for 6-Gauge 96" High Fence	Each Post	\$225.00	1	\$225.00
51	2.375" O.D. Post for 6-Gauge 120" High Fence	Each Post	\$300.00	1	\$300.00
52	2.375" O.D. Post for 6-Gauge 144" High Fence	Each Post	\$325.00	1	\$325.00
53	2.375" O.D. Post for 9-Gauge 36" High Fence	Each Post	\$100.00	1	\$100.00
54	2.375" O.D. Post for 9-Gauge 42" High Fence	Each Post	\$100.00	1	\$100.00
55	2.375" O.D. Post for 9-Gauge 48" High Fence	Each Post	\$100.00	1	\$100.00
56	2.375" O.D. Post for 9-Gauge 72" High Fence	Each Post	\$100.00	1	\$100.00
57	2.375" O.D. Post for 9-Gauge 96" High Fence	Each Post	\$220.00	1	\$220.00
58	2.375" O.D. Post for 9-Gauge 120" High Fence	Each Post	\$270.00	1	\$270.00
59	2.375" O.D. Post for 9-Gauge 144" High Fence	Each Post	\$325.00	1	\$325.00
60	2.375" O.D. Post for 11-Gauge 120" High Fence	Each Post	\$270.00	1	\$270.00
61	2.375" O.D. Post for 11-Gauge 144" High Fence	Each Post	\$325.00	1	\$325.00
Item #	Furnish and Install End, Corner and Pull Posts, including braces, post tops, digging the post hole and filling with concrete. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
62	2.875" O.D.Post for 36" High Fence	Each Post	\$100.00	1	\$100.00
	2.875" O.D. Post for 42" High Fence	Each Post	\$100.00	1	\$100.00
64	2.875" O.D. Post for 48" High Fence	Each Post	\$100.00	1	\$100.00

<i></i>			\$100.00	1	¢100.00
	2.875" O.D. Post for 72" High Fence	Each Post	\$100.00	1	\$100.00
	2.875" O.D. Post for 96" High Fence	Each Post	\$350.00	1	\$350.00
	2.875" O.D. Post for 120" High Fence	Each Post	\$450.00	1	\$450.00
68	2.875" O.D. Post for 144" High Fence	Each Post	\$535.00	1	\$535.00
Item #	Furnish and Install 2.875" O.D. Gate Post, including braces, post tops, digging the post hole and filling with concrete. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
69	3' Tall Gate	Each Post	\$156.00	2	\$312.00
70	3.5' Tall Gate	Each Post	\$168.00	2	\$336.00
71	4' Tall Gate	Each Post	\$168.00	2	\$336.00
72	6' Tall Gate	Each Post	\$188.00	2	\$376.00
73	8' Tall Gate	Each Post	\$212.00	2	\$424.00
74	10' Tall Gate	Each Post	\$268.00	2	\$536.00
	Furnish and Install 4.0" O.D. Gate Post, including braces, post tops, digging the post hole and filling with concrete. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
75	3' Tall Gate	Each Post	\$234.00	2	\$468.00
76	3.5' Tall Gate	Each Post	\$252.00	2	\$504.00
77	4' Tall Gate	Each Post	\$252.00	2	\$504.00
78	6' Tall Gate	Each Post	\$282.00	2	\$564.00
79	8' Tall Gate	Each Post	\$318.00	2	\$636.00
80	10' Tall Gate	Each Post	\$402.00	2	\$804.00
Item #	Furnish and Install 9-Gauge Aluminized Steel Chain Link Gate with 1.9" O.D. Pipe Frame, 3/8" Adjustable Truss Rods with Latches, Stops, Keepers and Hinges. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
81	3' Tall x 3' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 4' Wide	Each Gate	\$25.00	1	\$25.00
83	3' Tall x 5' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 6' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 8' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 10' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 12' Wide	Each Gate	\$25.00	1	\$25.00
	3.5' Tall x 3' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 4' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 5' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 6' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 8' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 10' Wide	Each Gate	\$50.00	1	\$50.00
93	J.J Tall X TO WIDE	Lach Gale	\$30.00	1	\$20.0

94	3.5' Tall x 12' Wide	Each Gate	\$50.00	1	\$50.00
95	4' Tall x 3' Wide	Each Gate	\$75.00	1	\$75.00
96	4' Tall x 4' Wide	Each Gate	\$75.00	1	\$75.00
97	4' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
98	4' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
99	4' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
100	4' Tall x 10' Wide	Each Gate	\$150.00	1	\$150.00
101	4' Tall x 12' Wide	Each Gate	\$150.00	1	\$150.00
102	6' Tall x 3' Wide	Each Gate	\$75.00	1	\$75.00
103	6' Tall x 4' Wide	Each Gate	\$75.00	1	\$75.00
104	6' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
105	6' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
106	6' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
107	6' Tall x 10' Wide	Each Gate	\$150.00	1	\$150.00
108	6' Tall x 12' Wide	Each Gate	\$150.00	1	\$150.00
109	8' Tall x 3' Wide	Each Gate	\$75.00	1	\$75.00
110	8' Tall x 4' Wide	Each Gate	\$75.00	1	\$75.00
111	8' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
112	8' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
113	8' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
114	8' Tall x 10' Wide	Each Gate	\$150.00	1	\$150.00
115	8' Tall x 12' Wide	Each Gate	\$150.00	1	\$150.00
116	10' Tall x 3' Wide	Each Gate	\$100.00	1	\$100.00
117	10' Tall x 4' Wide	Each Gate	\$100.00	1	\$100.00
118	10' Tall x 5' Wide	Each Gate	\$100.00	1	\$100.00
119	10' Tall x 6' Wide	Each Gate	\$200.00	1	\$200.00
120	10' Tall x 8' Wide	Each Gate	\$200.00	1	\$200.00
121	10' Tall x 10' Wide	Each Gate	\$200.00	1	\$200.00
122	10' Tall x 12' Wide	Each Gate	\$200.00	1	\$200.00
Item #	Furnish and Install 9-Guage Finish with a 10-Guage Core Black Vinyl Chain Link Gate with 1.9" O.D. Pipe Frame, 3/8" Adjustable Truss Rods with Latches, Stops, Keepers and Hinges. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
	3' Tall x 3' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 4' Wide	Each Gate	\$25.00	1	\$25.00
	3' Tall x 5' Wide	Each Gate	\$25.00	1	\$25.00
126	3' Tall x 6' Wide	Each Gate	\$25.00	1	\$25.00
127	3' Tall x 8' Wide	Each Gate	\$25.00	1	\$25.00
128	3' Tall x 10' Wide	Each Gate	\$25.00	1	\$25.00
129	3' Tall x 12' Wide	Each Gate	\$25.00	1	\$25.00
		F 1 G /	\$50.00		¢70.00
130	3.5' Tall x 3' Wide	Each Gate	\$50.00	1	\$50.00

1.32	3.5' Tall x 5' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 6' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 8' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 10' Wide	Each Gate	\$50.00	1	\$50.00
	3.5' Tall x 12' Wide	Each Gate	\$50.00	1	\$50.00
	4' Tall x 3' Wide	Each Gate	\$75.00	1	\$75.00
	4' Tall x 4' Wide	Each Gate	\$75.00	1	\$75.00
	4' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
	4' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
	4' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
	4' Tall x 10' Wide	Each Gate	\$150.00	1	\$150.00
	4' Tall x 12' Wide	Each Gate	\$150.00	1	\$150.00
	6' Tall x 3' Wide	Each Gate	\$75.00	1	\$75.00
	6' Tall x 4' Wide	Each Gate	\$75.00	1	\$75.00
	6' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
	6' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
	6' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
	6' Tall x 10' Wide	Each Gate			
			\$150.00	1	\$150.00
	6' Tall x 12' Wide	Each Gate Each Gate	\$150.00		\$150.00
	8' Tall x 3' Wide 8' Tall x 4' Wide		\$75.00	1	\$75.00
		Each Gate	\$75.00	1	\$75.00
	8' Tall x 5' Wide	Each Gate	\$75.00	1	\$75.00
	8' Tall x 6' Wide	Each Gate	\$150.00	1	\$150.00
	8' Tall x 8' Wide	Each Gate	\$150.00	1	\$150.00
	8' Tall x 10' Wide	Each Gate	\$150.00	1	\$150.00
	8' Tall x 12' Wide	Each Gate	\$150.00	1	\$150.00
	10' Tall x 3' Wide	Each Gate	\$100.00	1	\$100.00
	10' Tall x 4' Wide	Each Gate	\$100.00	1	\$100.00
	10' Tall x 5' Wide	Each Gate	\$100.00	1	\$100.00
	10' Tall x 6' Wide	Each Gate	\$200.00	1	\$200.00
	10' Tall x 8' Wide	Each Gate	\$200.00	1	\$200.00
	10' Tall x 10' Wide	Each Gate	\$200.00	1	\$200.00
164	10' Tall x 12' Wide	Each Gate	\$200.00	1	\$200.00
	Furnish and Install 6-Guage Aluminized				
Item	Steel Chain Link Baseball and Softball			Estimated	Extended
#	Backstops, including top rail, braces,	Unit of Issue	Unit Price	Quantity	Price
	post tops, digging the post hole and			C	
L	filling with concrete. Size]			A
165	8' x 8' x 8' x 10' high with no hood	Each	\$250.00	1	\$250.00
166	10' x 10' x 10' x 10' high with 9-Guage 6' hood	Each	\$500.00	1	\$500.00
167	16' x 16' x 16' x 12' high with 9-Guage 8'	Each	\$7,500.00	1	

	24' x 16' x 24' x 16' high with 9-Guage	Each	\$9,500.00	1	
168	10' hood		\$9,500.00	1	\$9,500.00
Item #	Labor Rates for repair work	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
169	Removal and Legal Disposal of Chain Link Fence, Posts and Gates	Linear Foot	\$20.00	20	\$400.00
170	Chain Link Fence Repair Project Manager, Regular Hours	Hour	\$1.00	2	\$2.00
171	Chain Link Fence Repair Tradesman, Regular Hours	Hour	\$50.00	2	\$100.00
172	Chain Link Fence Repair Helper, Regular Hours	Hour	\$40.00	2	\$80.00
173	Chain Link Fence Repair Project Manager, Holiday/Weekend Hours	Hour	\$1.00	2	\$2.00
174	Chain Link Fence Repair Tradesman, Holiday/Weekend Hours	Hour	\$75.00	2	\$150.00
175	Chain Link Fence Repair Helper, Holiday/Weekend Hours	Hour	\$60.00	2	\$120.00
Item #	Furnish and Install Rental Chain Link Fence Panels	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
	 6' x 8' Chain Link Panels anchored in holes drilled in concrete or in Steel Tube Stands with panel clamps 6' x 8' Chain Link Panels anchored in holes drilled in concrete or in Steel Tube 	Weekly Rental	\$50.00	10	\$500.00
170	Stands with panel clamps Delivery and set up of Chain Link Panels	Monthly Rental	\$50.00	10	\$500.00
178	Removal of Chain Link Panels	Per Panel Per Panel	\$2.00 \$2.00	<u>20</u> 20	\$40.00 \$40.00
177	Removal of Chain Enix I alors		φ2.00	20	φ+0.00
Item #	Furnish and Install Dyneema Ultra-High molecular weight polyethylene Netting and 4 ply 1.2mm diameter twine. Size	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
	10' High	Linear Foot	\$10.00	100	\$1,000.00
	20' High	Linear Foot	\$10.00	100	\$1,000.00
	30' High	Linear Foot	\$25.00	100	\$2,500.00
-	40' High	Linear Foot	\$50.00	100	\$5,000.00
184	50' High	Linear Foot	\$75.00	100	\$7,500.00

Item #	Furnish and Install Terminal and Intermediate Post, including bracing, post top, digging the post hole and filling with concrete per manufacturers recommendation for net size		Unit Price	Estimated Quantity	Extended Price
185	Post for 10' High Net	Each Post	\$1,000.00	10	\$10,000.00
	Post for 20' High Net	Each Post	\$1,500.00	10	\$15,000.00
187	Post for 30' High Net	Each Post	\$5,000.00	10	\$50,000.00
188	Post for 40' High Net	Each Post	\$6,000.00	10	\$60,000.00
189	Post for 50' High Net	Each Post	\$7,000.00	10	\$70,000.00
Item #	Labor Rates for repair work	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
190	Removal and Legal Disposal of Netting and Posts	Linear Foot	\$10.00	100	\$1,000.00
191	Netting Repair Project Manager, Regular Hours	Hour	\$1.00	2	\$2.00
192	Netting Repair Tradesman, Regular Hours	Hour	\$50.00	2	\$100.00
193	Netting Repair Helper, Regular Hours	Hour	\$40.00	2	\$80.00
194	Netting Repair Project Manager, Holiday/Weekend Hours	Hour	\$1.00	2	\$2.00
195	Netting Repair Tradesman, Holiday/Weekend Hours	Hour	\$75.00	2	\$150.00
196	Netting Repair Helper, Holiday/Weekend Hours	Hour	\$60.00	2	\$120.00
Item #	Furnish and Install Split Rail Fencing	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
197	11' Long Spruce or Red Pine Rail	Each Rail	\$15.50	20	\$310.00
198	66" Long Black Locust Terminal Post, digging the post hole and filling with concrete	Each Post	\$135.00	2	\$270.00
199	66" Long Black Locust Terminal Post, direct bury	Each Post	\$135.00	2	\$270.00
200	66" Long Black Locust Intermediate Post, digging the post hole and filling with concrete	Each Post	\$135.00	2	\$270.00
201	66" Long Black Locust Intermediate Post, direct bury	Each Post	\$135.00	2	\$270.00
Item #	Labor Rates for Split Rail Fence removal	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
202	Removal and Legal Disposal of Split Rail Fence	Linear Foot	\$5.00	10	\$50.00

Item #	Furnish and Install Stockade Fencing	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
203	# 1 Milled Spruce 6' x 8' Stockade Panel	Each panel	\$150.00	10	\$1,500.00
704	Pressure Treated Pine Post, digging the post hole and filling with concrete	Each Post	\$50.00	10	\$500.00
205	Pressure Treated Pine Post, Direct Bury	Each Post	\$50.00	10	\$500.00
Item #	Labor Rates for Stockade Fence removal	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
206	Removal and Legal Disposal of Stockade Fence	Linear Foot	\$5.00	100	\$500.00
	Furnish and Install Board on Board Fencing	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
207	6' High Presure Treated Pine Board on Board Fencing including Rails and Boards	Linear Foot	\$20.00	80	\$1,600.00
	Pressure Treated Pine Post for 6' high Board on Board Fence, digging the post hole and filling with concrete	Each Post	\$80.00	10	\$800.00
209	Pressure Treated Pine Post for 6' High Board on Board Fence, Direct Bury	Each Post	\$80.00	10	\$800.00
Item #	Labor Rates for Board on Board Fence removal	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
210	Removal and Legal Disposal of Board on Board Fence	Linear Foot	\$5.00	10	\$50.00
ltem	Furnish and Install Welded Wire Steel Fence, 6-Gauge wire panels, 8' long with 2" x 6" mesh	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
211	4' High Panel	Per Panel	\$275.00	10	\$2,750.00
212	5' High Panel	Per Panel	\$325.00	10	\$3,250.00
	6' High Panel	Per Panel	\$350.00	10	\$3,500.00
214	8' High Panel	Per Panel	\$410.00	10	\$4,100.00
	Furnish and Install Welded Wire Steel Fence Square Fence Posts	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
215	2" Square 16 -Gauge Post, 7' 9" long with U-bolts and Post Caps.	Each Post	\$75.00	10	\$750.00

	2" Square 16 -Gauge Post, 8' 9" long				
216	with U-bolts and Post Caps.	Each Post	\$75.00	10	\$750.00
	2.5" Square 16 -Gauge Post, 11' long	Lacii i Ost		10	φ750.00
217	with U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	2.5" Square 12 -Gauge Post, 7' long with	Lacii i Ost		10	\$1,500.00
218	U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	2.5" Square 12 -Gauge Post, 8' long with	Lacii r Ost		10	\$1,500.00
219	U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	2.5" Square 12 -Gauge Post, 9' long with	Lacii i Ost		10	\$1,500.00
220	U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	2.5" Square 12 -Gauge Post, 10' long			10	\$1,500.00
221	with U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	2.5" Square 12 -Gauge Post, 11' long	Lacii i Ost		10	\$1,500.00
222	with U-bolts and Post Caps.	Each Post	\$150.00	10	\$1,500.00
	3" Square 12 -Gauge Post, 7' long with U-			10	\$1,500.00
223	bolts and Post Caps.	Each Post	\$200.00	10	\$2,000.00
	3" Square 12 -Gauge Post, 8' long with U-			10	φ2,000.00
224	bolts and Post Caps.	Each Post	\$200.00	10	\$2,000.00
	3" Square 12 -Gauge Post, 9' long with U-			10	\$2,000.00
225	bolts and Post Caps.	Each Post	\$200.00	10	\$2,000.00
	3" Square 12 -Gauge Post, 10' long with	Lacit i ost		10	\$2,000.00
226	U-bolts and Post Caps.	Each Post	\$200.00	10	\$2,000.00
	3" Square 12 -Gauge Post, 11' long with	Lucii I ost		10	\$2,000.00
227	U-bolts and Post Caps.	Each Post	\$200.00	10	\$2,000.00
	Furnish and Install Welded Wire Steel			10	¢ _ ,000100
Item	Gates to include all hardware necessary	Unit of Issue	Unit Price	Estimated	Extended
#	for normal gate operation			Quantity	Price
	4' Tall x 3' Wide	Each Gate	\$1,000.00	1	\$1,000.00
	4' Tall x 4' Wide	Each Gate	\$1,000.00	1	\$1,000.00
	4' Tall x 5' Wide	Each Gate	\$1,000.00	1	\$1,000.00
	4' Tall x 6' Wide	Each Gate	\$1,000.00	1	\$1,000.00
	4' Tall x 8' Wide	Each Gate		1	\$1,400.00
			\$1,400.00	1	
233	4' Tall x 10' Wide	Each Gate	\$1,400.00 \$1,650.00	1	
	4' Tall x 10' Wide 4' Tall x 12' Wide		\$1,400.00 \$1,650.00 \$1,850.00		\$1,650.00 \$1,850.00
234	4' Tall x 12' Wide	Each Gate	\$1,650.00 \$1,850.00	1	\$1,650.00 \$1,850.00
234 235	4' Tall x 12' Wide 6' Tall x 3' Wide	Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00	1	\$1,650.00 \$1,850.00 \$1,000.00
234 235 236	4' Tall x 12' Wide	Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00	1 1 1	\$1,650.00 \$1,850.00
234 235 236 237	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide	Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00	1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00
234 235 236 237 238	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00	1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00
234 235 236 237 238 239	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide 6' Tall x 6' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00	1 1 1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00
234 235 236 237 238 239 240	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide 6' Tall x 6' Wide 6' Tall x 8' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00	1 1 1 1 1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00
234 235 236 237 238 239 240 241	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide 6' Tall x 6' Wide 6' Tall x 8' Wide 6' Tall x 10' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00	1 1 1 1 1 1 1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00
234 235 236 237 238 239 240 241 242	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide 6' Tall x 6' Wide 6' Tall x 8' Wide 6' Tall x 10' Wide 6' Tall x 12' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00 \$2,100.00	1 1 1 1 1 1 1 1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00 \$2,100.00
234 235 236 237 238 239 240 241 242 243	4' Tall x 12' Wide 6' Tall x 3' Wide 6' Tall x 4' Wide 6' Tall x 5' Wide 6' Tall x 6' Wide 6' Tall x 8' Wide 6' Tall x 10' Wide 6' Tall x 12' Wide 8' Tall x 3' Wide	Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate Each Gate	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00 \$2,100.00 \$1,200.00	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$1,650.00 \$1,850.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,500.00 \$1,500.00 \$1,850.00 \$2,100.00 \$1,200.00

203	Section, 11" Weathering Steel		\$100.00	10	\$1,000.00
264	Section, 11" Galvanized Furnish and Install Radial Terminal	Each Section	\$75.00	10	\$750.00
	Furnish and Install Weathering Steel Radial Guard Rail Beam Furnish and Install Radial Terminal	Linear Foot	\$30.00	10	\$300.00
262	Furnish and Install Weathering Steel Guard Rail Beam	Linear Foot	\$25.00	10	\$250.00
261	Furnish and Install Galvanized Steel Radial Guard Rail Beam	Linear Foot	\$20.00	10	\$200.00
260	Furnish and Install Galvanized Steel	Linear Foot	\$20.00	10	\$150.00
259	Furnish and Install Wooden Offset Blocks	Each Block	\$20.00	5	\$100.00
	Furnish and Install Steel Offset Blocks	Each Block	\$20.00	10	\$200.00
257	Furnish and Install Wooden Guard Rail Post	Each Post	\$150.00	10	\$1,500.00
256	Furnish and Install Galvanized Steel Guard Rail Post	Each Post	\$150.00	2	\$300.00
Item #	Guard Rail	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
255	Welded Wire Fence Repair Helper, Holiday/Weekend Hours	Hour	\$20.00	2	\$40.00
254	Welded Wire Fence Repair Tradesman, Holiday/Weekend Hours	Hour	\$40.00	2	\$80.00
253	Welded Wire Fence Repair Project Manager, Holiday/Weekend Hours	Hour	\$40.00	2	\$80.00
252	Welded Wire Fence Repair Helper, Regular Hours	Hour	\$20.00	2	\$40.00
251	Welded Wire Fence Repair Tradesman, Regular Hours	Hour	\$40.00	2	\$80.00
250	Welded Wire Fence Repair Project Manager, Regular Hours	Hour	\$40.00	2	\$80.00
249	Removal and Legal Disposal of Welded Wire Fence and Posts	Linear Foot	\$2.50	80	\$200.00
	Labor Rates for Welded Wire repair work	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
240			φ2,500.00	1	φ2,300.00
	8' Tall x 10' Wide 8' Tall x 12' Wide	Each Gate Each Gate	\$2,200.00 \$2,300.00	1	\$2,200.00 \$2,300.00
	8' Tall x 8' Wide	Each Gate	\$1,800.00	1	\$1,800.00

200	Removal and Legal Disposal of Guard Rail Post	Each Post	\$10.00	5	\$50.00
267	Removal and Legal Disposal of Offset Blocks	Each Block	\$10.00	5	\$50.00
/na	Removal and Legal Disposal of Guardrail Beam	Linear Foot	\$5.00	10	\$50.00
269	Removal and Legal Disposal of Radial Beam	Linear Foot	\$5.00	10	\$50.00
270	Removal and Legal Disposal of 11" Radius Section or Flared End	Each Radius Section or Flared End		2	\$0.00
271	Straightening and Aligning	Hour		2	\$0.00
Item #	Plastic Safety Fence	Unit of Issue	Unit Price	Estimated Quantity	Extended Price
	Furnish and Install 4' Tall Plastic Safety Orange Fencing with 1.75 Square Inch opening	Linear Foot	\$4.00	100	\$400.00
	Furnish and Install 6' long 14-Gauge Steel Fence Post	Each Post	\$30.00	10	\$300.00
	Removal and Legal Disposal of Plastic Safety Fencing and Posts	Linear Foot	\$1.50	100	\$150.00
			Bid Evalu	uation Total	\$348,348.00